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My research has found that light travel is not in a
Straight line.

Deepu.G,
Tharakam, Kadappa, Mynagappally (P.O) Kollam, Kerala, India.

Abstract : The scientific community has all ready realized that light is moving in a straight line. But my research has found
that light travel is not in a straight line. The light travel in such a way that the deviates from the straight line and concentrates into
the central point of its radiant region. This phenomenon can be called the Thamasthika phenomenon. This Fact Can be

Understood From the Following Experiment.
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Figure 1.
Figure 1 Listen.

In a bright spot, a mirror reflecting the light, and a bottle about 30 cm from it. We can first measure the height and width of the
bottle using a scale. the scale was obtained when the bottle was 15 cm high and 6 cm wide. After that, the image of the bottle in the
mirror can be measured. The bottle in the mirror is only 7.5 cm tall and 3 cm wide. that is the bottle mirror image, which is 15 cm
high and 6 cm wide, is only 7.5 cm high and 3 cm wide.

That is, when the light reflected from the bottle reached the mirror at a distance of 30 cm. the reflection in the bottle mirror was
slightly visible as the light emitted from the bottle slid in to the central part of its radiant area. if the light radiated from the bottle
was in a straight line, the image in the mirror would rise to the same 15 cm as the bottle, and 6 cm wide. From this we can see
reflection in the mirror of the bottle was slightly visible due to the light moving.
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Figure 2.

Figure 2 Listen.
The Distance between the bottle and the mirror is increased from 30 cm to 60 cm. The height of the

Reflection in the bottle mirror appears to be less than 3.75 cm and the width is 1.5 cm. That is , as the distance increases, the
Reflection gets smaller. That is, by drinking distance, the light travels across the slope to the center of the radiant area. That is way
the size of Reflection decreases with the distance.
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Figure 3.

Figure 3 Listen.
The Distance between the bottle and the mirror is increased from 60 cm to 120 cm. The height of the
Reflection in the bottle mirror appears to be less than 1.87 cm and the width is 0.75 cm. That is , as the distance increases, the

Reflection gets smaller. That is, by drinking distance, the light travels across the slope to the center of the radiant area. That is way
the size of Reflection decreases with the distance.
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Figure 4.

Figure 4 Listen.

The Distance between the bottle and the mirror makes it 307 meters. So when the distance is increases, the

image of the bottle appears in the mirror. that is, as the distance is increased, the light from the bottle concentrate the center of its
radiant area.

This is the fact that we can understand from these observations. The light travel is not in a straight line. The light travel in such
a way that the deviates from the straight line and concentrates into the central point of its radiant region. That is, when the light
reflected from the bottle reached the mirror at a distance of 30 cm. the reflection in the bottle mirror was slightly visible as the light
emitted from the bottle slid in to the central part of its radiant area. if the light radiated from the bottle was in a straight line, the
image in the mirror would rise to the same 15 cm as the bottle, and 6 cm wide. From this we can see reflection in the mirror of the
bottle was slightly visible due to the light moving. This is the fact that we can understand from these observations. The light travel

is not in a straight line. The light travel in such a way that the deviates from the straight line and concentrates into the central point
of its radiant region.

This is the fact that we can understand from these observations. The size of the light is half the size of the light at twice the
size of the largest surface area. The light is then halved again at twice the distance of the surface size of the light emitting object.
The the light is halved at twice that distance. This way the light travels through the slope, which is half the size of the light.

This is the fact that we can understand from these observations. The light travel is not in a straight line.
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